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All the questions are compulsory.
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If there is any error/difference/contradiction in Hindi or English
Version of the question paper the question of Hindi Version should
be treated valid.

W= 27 ( Section - A )

e =i 9T O 3 S o fert C
Define molarity and write down formula.

20g T § A i HEn 7 F | 1
Find the moles in 20g Glucose. :
P-asite ¥ forg wmr seraRie famara fafad | ' 1
Write general electronic configeration of p-block.

H.0 39 § O W Hto 1 yar fafad | 1

Which the type of hybridization in O atom in present at HO
Molecule. .

K, d K ¥ wisy fafed | 1

» What relationship between K, and K.

- Cr % sorfe fomama fatad | 1

Write down the elcctrqnictconﬁgeraﬁcn of Cr. _

K,Cr,0, 71 KMnO, # t@ﬁﬁmmmﬂﬁmmma‘m 1
Find out the oxidation No, for underlined elements of followings
K,Cr,0,and KMnQO,. -

e 4 T fe | . . 1
Write the equation of ideal gas.
st ana 9 w0 %1 4 el | 1

What is the formula of formal charge.

Na a4l mgﬁﬁﬁﬂﬁﬁﬂﬁfﬁ?ﬂﬂmﬁﬂﬁﬁﬁﬁ'ﬂqﬁmﬂ?‘?
?? ' :

1In Na and mg which element has maximum second ionisation

enthalpy. PTO

{ s A

2

)

?ﬂ”'}“‘//?/.%’

21 [LEm

C" vy & =geli it e fAfE@d ) ]
Write the number of neutrons in 4 C"” atom.
TRV ST T T w1 G et | ]

* Write the formula for calculate percentage ionic character,

firen Tomeeew AR fafed | ]
Write the Gibbs helmholtz equation.

T = ( Section - B) )
NH, F1 oot fgya sl NH, 5 Y S 1 g & sifus
T 137 : ' 1%
The dipole moment of NH, is-greater then that of NF,. Explain

. why?

3T N Y HAURON TG G T Fiford | 1%
Explain Lewis acid-Base concept with example. _
RRIE R [Ar] 3d4st a9 @ i AEd FON 9 WA
i T | 1%
Find out the Atomic No, and period for the element that having
electronic configeration of [Ar) 3d%4s? .

T i Tqae g # W | "
Explain Pauli Exclusion principal.
N &1 a7 et w1 Wm0 sifess g g1 =12 1%

lonization enthalpy of Nitrogen is Greater than Oxygen. Why?
Figel o frem = uftnfyg St g eE 9 e | S w1

- Define Boylé’s law and draw the graph between pressure and

volume.. .

foafm g9 Frem 4 ST wfeq g S| 1%
Differentiate Isolated & closed system with. Examples.

Na ¥ig a C) 9 g1 NaCl Fmfur & & ¥ax = grr amgmed 1 1%
Explain Born Haber cycle for the formation of NaCl with help of
Na metal and chlorine. ' _
T sty = fagr wm #7 nftrdty v fafae s
What is uncertainity principal of Heisenberg write down the Math-
ematical Expression.

el 27u) S elT T S, e, o 9 S i wEm wmed

Draw the orbital structure of ethene and shows its hybridization
and No. of 0 and T l:hjonds.



31 . P71
- G ( Section - C)
Dh (i) T et yam e o A 2%
(ii) TS whire % arweie @ Frepd fergly
(i) Draw the ray dig. for Ratherford. Explain.
(i) Give the observation and result/conclusion for Ratherford
model.
25. T welterw wgfed ifere- %
Balance the following Equations::
(i) MnOj +H,0, —Mn0, +0, +OH"
A gt fafy :
(Ion - electron Method)
Hear (OR )
. (i) Bry+OH" —BrO; +Br + H,0
TR0 3 fafur (Oxidation No. Method)
Xg. K, 791 K . ¥ wey wenfim i
Derive “a” relation between K, and K .
N\ R T e IR Wiea Wl
WIT- Z ( Section- D)
\’K (i) enfoaes e fagm 3 smum w 0° 1] % fag 3o v ot
BRI 3117 12 0 IO e R SR T aeg | 2+2=4
(i) XeOF, o Hev 9ar S 1 T9gRa | -
- (i) On the basis of Molecular orbital theory. Calculate the bond

order of Of molecule with the help of energy level diagram
and indicate their magnetic behavior.
(i) Explainthe Hybridisationand shape in XeOF,.
et (OR )
(i) onfoaes FHeve fag & SR W Na 317 & fag 3+ W anta
T 3 HIE 1 IO e rashid SHaRT ) g | 2+2=4
(ii) SF, ¥ a0 aon i 1 Fwamsd |
\(j} On the basis of Molecularorbital theory. Calculate the bond
order of N, molecule with the help of energy level diagram
. and indicate their magnetie behavior.
(i) Explain the Hybridisation and shape in SF, Molecule.

\?& 0 R ¢ i Explainonly, . 1+1+1+1=4

(1) d-weiieR e SftadeTitel WAl Ui &
(i) F geiagn afey Cl & = 2Rt 71
(ifi) Mg =7a1 ¢ et Mg &l

[4]
(iv) MnCL 3 3en MnClI, siferes forega o e & |

(i) d-block elements shows variable valency.

(iiy Electron gaining enthalpy of Florine is higher then Chlorin.
(i) Mg* exists while Mg* doesn’t exists.

(iv) MnCl, is more electronegative then MnCL,.

- HLET (OR ) '
Wm%ﬁﬁ?xplain only. 141+141=4
(i) 35 e A faua oo wa o &

(i) ¥ 3797 ¥ werdis ga o @ o S ¥
(iii) PCI, =7 & S/ NCI, =ef = |

(iv) SR T Yoret ST aidt &1

1] Electron negativity of inert gases will always zero.
\(u] Positive lon is always smaller than its Netural atom.
Qi) PCI, is exists while NCI, doesn’t exist.

v) Alkali metals are strong reductive.

(1) = e 71 82 so% wor fo@h) T+1+1+1=4

(i) smafe fava el wea #2

(iii ) e foam =t v =51
(iv) H,0 317y faams &z - - ¢

" (i) ' What is n-overlapping. Explain its types.

(i) .Define [onic potential.
(iii) Explain Fajans Law. rbseonline.com
(iv) Why H,O is polar solvent.
HIar (-OR)
(i) Eﬁaatwf?ﬁw—éﬂﬁqﬁmﬁamm 1+1+1+1=4
(ii) forgd Roren =t 327ETw Wew wftnfia w1
(i) o (far) sifosare o §72 595 vor fafau)
(iv) ¥ 317 99 Rl Fza ¥7 O e ofea gzl |
()  Define electron gain enthalpy?
(i) Explain electron negativity with example.
(i) What is o overlapping? Explain its types.
(iv) What do you mean by common ion effect. Explain it with
example,
- - 1
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